"Sample Question for Idea Only"
MBA Admission Test
Total: 50 Marks
Time: 1 Hour

Tick (V) the correct/most suitable answer in response to each question:

Reading Comprehension: Read the following passage and answer questions 1
through 4: (Each question is of 2 Points)

In ancient times wealth was measured and exchanged in things that could be
touched: food, tools, precious metals, and stones. Then the barter system was
replaced by coins, which still had real value since they were pieces of rare metal.
Coins were followed by fiat money (paper notes) that have value only because
everyone agrees to accept them. Today electronic monetary systems are gradually

being introduced that will transform money into even less tangible forms, reducing
it to a series of "bits and bytes", or units of computerized information, going
between machines at the speed of light. Already, electronic fund transfer allows
money to be instantly sent and received by different banks, companies, and
countries through computers and telecommunications devices.

1. Which of the following would be the most appropriate title for the passage?
A. International Banking Policies
B. The History of Monetary Exchange
C. The Development of Paper Currencies
D. Current Problems in the Economy
E. Electronic Money & Currency

2. Coins once had real value as currency because they
A. were a great improvement over barter
B. permitted easy transportation of wealth



C. could become collector's items
D. were made of precious metals
E. were easy to handle

3. Which of the following statements about computerized monetary systems is
NOT supported by the passage ?

A. They promote international trade.

B. They allow very rapid money transfers.

C. They are still limited to small transactions

D. They dependent on good telecommunications systems.

E. They have made transactions easy

4. The author mentions food, tools, precious metals, and stones together because
they are all:

A. material objects

B. useful items

C. articles stored in museums

D. expensive

E. convenient

Critical Reasoning: (Each question is of 2 Points)

5. An economist was quoted as saying that the cost of living index will go up next
month in Japan because of a recent increase in the price of fruits and vegetables.
Which of the following can't be inferred from the statement?

A. The cost of fruits and vegetable has risen sharply.

B. Consumers have decreased their consumption of fruits and vegetables.

C. The cost of fruit and vegetable is a major item in the cost of living.

D. Food cost charge is reflected quickly in the cost of living.

E. Other items that make up the cost of living have not significantly decreased in
price



6. Disposable diapers, while a convenience, are an environmental disaster. If
people would use cloth diapers instead of those made of disposable paper, much
less paper would be produced savings millions of trees each year. Therefore,
people should go back to buying washing, and reusing cloth diapers and Earth's
precious natural resources would not be consumed so rapidly. This argument
depends on which of the following assumptions?

A. Cloth diapers are never disposed of.

B. The current trend in infant care is doing things the old-fashioned way.

C. The process of washing cloth diapers consumes less natural resources than
that of using disposable diapers.

D. Modern people like their conveniences more than anything else.

E. The annual cost to the consumer of using cloth diapers is only 20% the annual
cost of suing disposable diapers.

Analogy: (Each question is of 1 Points)

7. ENTREPRENEURS: PROFITS

A. laborer: wages B. managers: employees C. moonlighter: debts

D. arbitrator: complaints E. financiers: mortgages

8. PATRON: SUPPORT

A. spouse: divorce B. restaurant: management C. counselor: advice
D. host: hostility E. artist: imitation

9. SILO: CORN
A. acre: wheat B. reservoir: water C. mill: grain

D. paddy: rice E. furrow: seed



Open Writing: 5 Marks

10. What are the reasons behind the recent crisis in Sri Lanka?

Mathematics: 15 Marks (Each guestion is of 1 Points)

11. If 65% of x is 195, what is 75 percent of x?

A.215
B. 225
C. 235
D. 250
E. 26



12. Six years from now, Sumi's age will be the square of her age six years age.
What is Sumi's age???

A. 8
B.1
C.1
D. 1
E. None of these

13. If the average of the four numbers M, 2M+3, 3M-5, and SM+1 is 63. What is
the value of M?
A. 11 B. 15.75 C.22 D. 23 E. 25.3

14. Shuma receives a 10% raise each year for three consecutive years. What was
her salary after three raises if her salary was Tk. 10000 per month?
A. 13105 B. 13310 C. 14520 D. 14109 E. 15221

15. The sum of an odd and an even number 1is:

A. Sometimes an odd number
B. Always an odd number

C. Always a prime number

D. Always divisible by 2

E. Always divisible by 3, 5, or 7

16. A student has an average of 86 in three examinations. What grade must he/she

receive on his/her next test to raise his/her average to 88?
A. 94 B. 90 C.92 D. 100 E. 96

17. In a group of 9 children, there are twice as many girls as boys, and twice as
many right-handed people as there are left-handed people. If a third of the boys are
left-handed handed, how many girls are right-handed?

Al B.3 C.4 D.5 E.6

18. The length of a rectangle is three times the width. If the perimeter is 36 cm, the
width is:



A.9cm B.4.5cm C.13 cm D. 13.5cm E. 18 cm

19. What is the smallest number of apples that can be distributed equally (without
cutting any apple) among 6, 10, 14, or 18 boys?
A. 1260 B. 315 C. 360 D. 630 E. 780

20. If there are 5 routes for traveling between two places A and B, how many

options are there for a person to travel from A to B and return back?
A.S B. 10 C.9 D. 25 D. 20

21. The quantity of goods produced in a firm is given by the equation x"2+5x=06,
where x is the number of units produced in thousand units. If you solve this

equation, what is the rational level of production?
A. 6000 B. 4000 C. 5000 D. 1000 E. 2000

22.1f 3/p=6 and 3/q= 15 then p-q=?
A.1/3 B. 2/5 C.3/10 D. 5/6 E.5

23. What number should come next in the series: 201, 202, 204, 207, ------ ?
A. 205 B. 208 C.210 D. 211 E. 213

24. A store usually sells certain items at a 40% profit. In one week, the store has a
sale during which the item is 20% less than the usual price. During the sale what is

the percent profit the store makes on the item?
A. 6% B. 8% C. 11% D. 12% E. 14%

25. The purchase price of an article is Tk. 80. In order to include 20% of the cost
for overhead and to provide Tk. 20 net profit, the mark up should be:
A. 16% B.21% C.25% D. 35% E. 45%

General Knowledge: 15 Marks (Each question is of 1 Points)

26. Who is the founder of Alibaba.com?
(A) Bill Gates (B) Mark Zuckerberg (C) Jack Ma (D) Jackie Chan



27. Who is considered as the pioneer of social business?
(A) Shah A. M. S. Kibria  (B) Dr. Muhammad Yunus
(C) Sir Fazle Hasan Abed (D) Saifur Rahman

28. Which country gives Bangladesh the maximum amount of loan?

(A) USA (B) UK (C) Japan (D) Australia

29. Niko Gas Company belongs to which country?
(A) USA (B) UK (C) Canada (D) Germany

30. Which one is the apex body of the private sector business community?

(A) BGMEA (B) BKMEA (C) FBCCI (D) US-Bangladesh
Chamber of Commerce

31. SWIFT is -

(A) Global Fund Transfer System

(B) Global Money Laundering Prevention System
(C) Global Financial Security System

(D) Global Financial Fraud Prevention System

32. When was the Generalized System of Preference (GSP) for Bangladesh
canceled by the USA?

(A) June 2011 (B) June 2012 (C) June 2013 (D) June 2014

33. Where is the head-quarter of the Islamic Development Bank?



(A) Jakarta (B) Kuala Lumpur (C) Istanbul (D) Jeddah

34. Which country industrial revolution started at?
(A) France (B) UK (C) Belgium (D) USA

35. Which UN body is concerned about laborer rights?
(A) IMO (B) ILO (C) IMF (D) IFAD

36. 10 Taka polymer note was first introduced in Bangladesh in —

(A) 1990 (B)2000  (C) 2005 (D) 2010

37. Which country in the top producer of wheat in the world?
(A) Russia (B) China (C) Ukraine (D) India

38. What is the currency of China?
(A) GBP (B) RMB (C) Yen (D) KRW

39. Which country is responsible for the emission of maximum CO,?

(A) USA (B) China (C) India (D) Russia

40. OPEC is the organization of —
(A) Coal Exporting Countries (B) Natural Gas Exporting Countries
(C) Oil Exporting Countries (D) Rice Exporting Countries



